
Negative Numbers
Three Terms 
Addition and Subtraction 5
Math Worksheet 4

( - 8 ) + ( - 14 ) - ( - 17 ) = ( - 9 ) - 18 + ( - 13 ) =

11 + ( - 13 ) - 6 = ( - 4 ) - ( - 13 ) + ( - 12 ) =

4 - ( - 18 ) - 18 = ( - 17 ) + ( - 16 ) - 4 =

( - 11 ) - 3 - ( - 7 ) = ( - 18 ) - ( - 15 ) - 14 =

17 + ( - 2 ) + 13 = ( - 1 ) + 14 + ( - 8 ) =

( - 19 ) + 2 - 2 = ( - 14 ) - 11 + 6 =

( - 8 ) + 17 + 7 = ( - 11 ) + 14 + 11 =

( - 15 ) - ( - 3 ) - 11 = ( - 14 ) + 7 - ( - 18 ) =

Total: 16 Goal: _____ Complete: _____ Correct: _____

eddirasa.com

eddirasa.com



Negative Numbers
Three Terms 
Addition and Subtraction 5
Math Worksheet 4

( - 8 ) + ( - 14 ) - ( - 17 ) = ( - 9 ) - 18 + ( - 13 ) = 

11 + ( - 13 ) - 6 = ( - 4 ) - ( - 13 ) + ( - 12 ) = 

4 - ( - 18 ) - 18 = ( - 17 ) + ( - 16 ) - 4 = 

( - 11 ) - 3 - ( - 7 ) = ( - 18 ) - ( - 15 ) - 14 = 

17 + ( - 2 ) + 13 = ( - 1 ) + 14 + ( - 8 ) = 

( - 19 ) + 2 - 2 = ( - 14 ) - 11 + 6 = 

( - 8 ) + 17 + 7 = ( - 11 ) + 14 + 11 = 

( - 15 ) - ( - 3 ) - 11 = ( - 14 ) + 7 - ( - 18 ) = 

Total: 16 Goal: _____ Complete: _____ Correct: _____

eddirasa.com

eddirasa.com


	negative-numbers-addition-subtraction-three-terms-5-v4
	negative-numbers-addition-subtraction-three-terms-5-v4-answer-key



